fraction/bin

Ratio to ATLAS

=
N

[EEY
o

0.5

Rivet 3.1.10, 3M events

13000 GeV pp Jets
—|—' I T I T I T I | I T I I T I T | I T I T I T I '—I—
i Relative p_(ATLAS jet fragmentation) ]

m ATLAS |
| ¢ Sherpa 2.2.9 default H
B 1
o -
~ _
B ' 7
i g AT |
I N — — LS B .
- o ’ _____ ’ ..... ’ ..... ’ ..... ’ ..... ’ ..... ’ ..... ’ ..... ’ ...... ‘ ..... ’ ...... ’ ..... Q ...... [ X ’ ...... Q ---- ]

| T R B l .
0 1 3

P

textrm{

textrm{re 2 "
} (positive values only)

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


